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2 HERR
TAEMERAEZER 2-1 KO 2-1 1R T, B, K2-1IZBITHAHAERT TR 1-1 &%t
I L, HURE SO TEABITICE T 2 KEIRIZHR 2 BAR 7230 E OFHE I 20T
(CFRk 28410 H) | OHifEES ( T-) 1324 5® L) 2£4, £/, HEMN

RO -1 X TKERLDOEDT—XEL ] | #HE (cm) OFEFE 1>100) X, &
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#2-1(1) RERKR
A5 N I
& 04 4
§2 BB |wats | WEEA T
7@ A/ |5H |6 |7H |8H |9H |[10A|11H|12H|1H |24 |34
Ekc*“q)l 9.2| 12.5| 14.2| 19.1] 18.6| 17.6| 13.9| 10.6| 6.6/ 1.7| 2.5 5.4
EE I pH 75 7.5 7.1 7.5 6.9 7.0 7.6/ 7.3] 6.8/ 7.0/ 7.7 7.3
L 39 | BB e
R %ag’if* 4.8 47| 47| 48| 45| 42| 3.8| 42| 45| 48/ 48 4.9
(ﬁfn) 0.05| 0.06| 0.03| 0.06| 0.14| 0.20| 0.17| 0.12| 0.08| 0.05| 0.05| 0.05
Ekc{"b‘j 10.7| 13.1| 13.8| 14.9| 15.7| 15.7| 13.6| 12.4| 11.0| 8.7 8.9] 10.8
)| pli 75| 72| 7.5 7.5 7.0] 7.0 7.0 73] 69| 68 7.2/ 7.2
2 41 BR) Tesrmn
B E@z‘n{s’iff 10.4| 10.0 9.6/ 9.8 9.5/ 89| 9.1| 94| 96| 96| 9.7 10.0
(mi’j';ifn) 0.002| 0.003] 0.002| 0.002| 0.003| 0.005| 0.005| 0.003| 0.003| 0.002| 0.002| 0.003
s (s 1 B (AR X
= (m3/min) AT
1.00 == GHI2EE
050 —— SFI3EE
‘ -S4 FEE
0.60
0.40
0.20
0.00
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008 —— S FISEE
: —— CHAEE
0.03
0.02
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Hh S N
IS - _ 4 &
;ﬁ; B |t | A A - -
7@ 48 |5A |68 |7H |8A |9A |10A|11A|12A|1A |28 |34
?%E)L 8.9| 12.0| 14.6| 19.7| 19.2| 18.9| 14.0| 11.5| 7.6 3.4] 3.9 8.0
pl 7.5 7.5 7.5 7.6 6.9 7.5 7.7 7.5 7.7 7.6 7.7 7.6
[
L %Ti%%l e
48| 5.1 5.0 5.3 4.6] 4.5 4.5/ 4.6 4.7 4.9/ 5.1| 5.0
(mS/m)
‘fﬁﬁ.‘ 10.1| 14.0] 11.7| 14.5| 36.9| 45.7| 29.3| 15.2| 11.2| 6.6| 6.6| 8.5
(m®/min)
7K
(C) 9.6/ 11.0] 11.9] 14.0| 15.1| 15.4| 14.9| 13.0| 10.9| 7.7| 8.2| 8.7
R pH 7.4 7.2l 74| 7.4 72| 72| 72| 75 7.3 7.4 6.9 7.4
4 5 | BR) Eeres
3 SR 3.8 4.0 3.9 4.1| 4.0 4.3| 3.6| 4.8 3.7 4.1| 4.2 4.6
(mS/m)
(m@fn) 0.007| 0.007| 0.006| 0.009| 0.006| 0.021] 0.018| 0.006| 0.004| 0.004| 0.003| 0.004
N X =
= (m3/min) 3 BIENIITR AFTEE
70.0 == THI2FE
60.0 —— THI3EE
50.0 —— G4 FEE
40.0
30.0
20.0
10.0
0.0
4 5H 6B 7R 8HA 9H 10R 11A 12B 1A 2B 3R
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Ny, 4 BE)|(BRE)IZR
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0.04
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%ﬂ; T | A | A - -
@ 48 |5A |68 |7HA |8A |9A |10A|11A|12A|1A |28 |34
M=
Zké“; 75| 12.3] 14.5| 18.1] 18.3] 17.2| 14.1] 10.9] 7.5| 2.8] 3.6| 5.7
. i 7.4 7.6] 7.0 7.4 6.8 7.1 7.3] 7.4 69| 72| 69/ 7.4
5 gq | TR ’
ey S A= 5
R JESASEAE ob sl 5ol a8 48| 45| 44| 46| a7 48| 47| a7
(mS/m)
o & 02| 04| o1 oz2| os6| 27| 1.8/ 05| 02| o.1] o0.1] 0.2
(m®/min)
7K
C) 7.6| 11.7] 13.6] 18.6] 19.3| 18.4] 13.9] 10.6] 6.2| 1.4] 1.3] 4.7
) | s pH 7.4 7.5 72| 76| 7.1 7.5 7.5 7.4 76| 76| 76| 75
ey o = 5 R
PSR 1.5 6.4 4.8 53| 4.5 43| 4.3 4.4| 4.5 4.7 5.0 4.8
(mS/m)
ﬁﬁzf 10.0| 10.3| 9.8] 10.9| 22.7| 39.2| 30.1| 10.5| 8.4 5.2| 5.9 6.6
(m®/min)
=1 =
8 (m3/min) 5 #FRTiHiR —tr— S TTAEE
10,0 —— SH2FE
—— I3 EE
8.0 —— T4 EE
6.0
40
2.0
0.0
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Hh S N
Hi . . SN 4
£E. F |mE s | RMEEA =
7@ 48 |5A |68 |7H |8A |9A |10A|11A|12A|1A |28 |34
?%E)“ 7.8| 12.0] 14.4] 19.7| 19.6| 18.6| 13.9] 10.7| 6.1] 0.4] 0.9 5.1
H 7.4 75| 73| 7.6 64| 7.5 76| 7.5 7.6 7.6 7.1| 7.3
S| | B P
ey e
(SRR sl g6l sal 43| a2 a8 4| 43| 45| 47| 45
(mS/m)
‘fﬁEj 7.8 10.6| 10.3| 10.2] 31.2| 29.6] 22.1| 7.4| 7.3 53| 5.4 5.6
(m®/min)
7K
) 11.1] 10.8] 11.8| 12.6| 14.7| 13.5| 13.8] 13.3| 12.7| 11.5| 11.0] 12.0
SEE S pH 6.9 7.0/ 6.8 6.7 6.8 6.7 6.6/ 67 6.9/ 7.0 7.0 6.9
8 - PKREAR e
T |BARSE 7.8 8.3 7.2| 84| 93| 102 95 85| 8.1 85 7.7 85
(mS/m)
YSﬁEf 0.16] 0.15 0.13] 0.15| 0.21| 0.28] 0.27| 0.16] 0.16| 0.08] 0.11| 0.12
(m®/min)
=
,‘:ﬁi(mgf’min) 7 %-tﬁluq:mu
60.0 —tp A TTEE
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50.0 —p IS EE
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HiA S 4 4
%@‘f B s | HamEA T
7l ® 48 |5A |68 |7HA |8A |9A |10A|11A|12A|1A |28 |34
JK . ~ ~ ~ B B ~ ~ - - -
(C) 14.2| 13.5
pll - - - - - 7.0 6.9 - - - - -
LHIS e e
o | - g |EREEE g8l e8] | | | o -
.. (mS/m)
JE B K F B
mrme - -l - - -] >1o00] >t00| | - - - -
(cm)
K B
(L/min) } - - - N 2:5 1.8 N N - N N
Ekcﬁ; 10.4] 11.9] 12.5| 14.2| 14.5| 14.0] 13.5| 13.2] 12.2| 9.5 8.8 10.0
pH 6.9 7.0 68| 6.7 69/ 6.8 7.0 7.2 70| 7.3 72| 7.2
E- 3 AP peeyee—
10 | - | AcEAE Baadama) o o g0l 79l 8| 92| 100| 99| s3] 79| 7.8 76| s
o (mS/m)
JE 30 K B
L(m)x >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100
&‘fm 6.0 7.8 7.2| 8.4 7.8 108 10.8] 8.4| 7.2| 47 45| 48
5 i 9 FEEMSZKEKIRELEK
K& (L/min) " R ——— ST
140.0 —— I 2
120.0 —— 51 3 EE
100.0 —— 514 FE
80.0
60.0
40.0
20.0
0.0
434 b5H 6HA 7A 8RA 9A 10RA 118 12 1A 2R 3A
B2-109) S$HTEEIGOFAERRE (MAES9)
= . s=Eay > Nl EE N
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=& 2-1(6) HEBR
5 PN
b5 . . 4 R
£E. B2 s | HAEEA - -
7@ 48 |5A |68 |7H |8A |9A |10A|11A|12A|1A |28 |34
?%E; 9.5| 10.1] 11.7| 13.6| 13.2| 14.3| 13.5| 13.3| 12.6]| 10.7| 10.5| 11.0
pl 7.1y 7.2l 7.2l 72| 7.2] 6.9 7.0 6.9 7.2 7.4 72| 7.2
HEM S =eTs
11 - | AKGE KR %as[ﬁ# 7.0 7.4 7.2 7.3 8.6| 9.3 9.4 7.9 7.2| 7.1 6.8 7.1
JE B K G
’(m;‘ >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100
V==
(L/min) 5.71 7.9 2.9 3.5 3.5| 10.0] 7.9 6.6/ 5.7 4.1 7.1|] 6.4
KR
(C) 8.2| 10.6| 12.0| 13.4| 14.5| 14.5| 13.5| 13.4| 10.7| 9.2| 8.1] 8.4
pH 7.4 7.1 74| 7.5 7.0 6.9 6.9 6.9 7.4 7.5 7.1 7.3
S 3 1Ll pe—
12 — | AkGE kR @agﬁ/l‘j*‘ 7.1 7.4 7.1 7.4 7.8 9.0 89| 7.3 7.5 6.8 6.7 7.3
JE 30 K B
J‘(m;‘ >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100
K &
(L/min) 12.0] 150.0| 13.2]126.0| 144.0| 288.0| 204.0| 102.0| 4.9] 13.2| 10.8| 17.4
k& (L/min) 11 EEEMHZKEKREZIEK o
—t— T EE
25.0 —— G2 FE
200 —— G 3EE
' —— 54 EE

15.0
10.0
5.0
0.0
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& 2-1(1) PEHR
Hh S N
b 5 . . 4 R
£E. B8 | AR | A A - -
@ 48 |5A |68 |7HA |8A |9A |10A|11A|12A|1A |28 |34
M=
?;?? 11.6] 13.0| 13.1| 14.2| 15.5| 14.5| 14.3| 13.2| 12.4| 8.8] 10.7| 12.5
bl 6.8 7.1| 6.6/ 7.0 68| 66| 65 67 69| 7.0 6.7 6.8
HEM S e
13 | - mﬁmm‘ngﬁ* 8.6| 9.0 8.4 87| 9.4 98| 9.1 86| 89| 88 9.0/ 9.2
& 30 9 Ak \;ﬁ};
ﬁ@‘ >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100
K B
i 3.0 2.6] 2.3] 3.2| 25| 3.5 3.3 23] 25| 22| 24/ 22
(L/min)
KR
C) 7.0] 10.3] 11.9] 14.1] 15.3] 14.9] 13.7] 13.0] 10.3] 7.4] 5.4 7.1
pH 7.2 7.2 7.1 7.2 6.6 6.7 7.0 7.1 7.2 7.8 7.1 7.3
FEHR S | B
14 | 9 k 6.5 7.0 6.2/ 71| 7.2| 86| 84| 7.5 62| 58 6.4 6.3
AKEAPE | (mS/m)
3 ite
%%; >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100
KA
() 0.8 1.0l 09| 09| 09| 1.0/ 1.0 09| 08| 05 05 0.6
L A 14 OKMIZEKRTTOKRE D OB S,
K (L/min) 13 EFE 5 KEKIREREIDEK o
—t— G TTEE

30.0

25.0

20.0

15.0

10.0

5.0

0.0
483 5AR
2-1(13)
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® 2-1(8) HWERR

Hh S N
Hh 5 . . N 4 4
£E. B |MEss | REEA -
7@ 48 |5A |68 |7H |8A |9A |10A|11A|12A|1A |28 |34
?‘f; 12.0| 13.0] 13.2| 14.1]| 13.8| 14.0| 13.9| 13.3| 12.6| 10.7| 11.1| 12.9
pl 6.8/ 7.0 6.8 6.9 7.0/ 6.7 6.6 6.6| 6.8 6.5 6.8/ 6.8
WD e s
15 - | AKGE KR %as[ﬁ;# 8.6| 9.6/ 8.7\ 8.71 9.7| 10.0| 9.3 8.7 8.5 8.7 8.6 8.9
JE A H -
;’g e
J‘(i’i)f; >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100
7&3 -0.5| -0.4| -0.4| -0.4| -0.4] -0.6| -0.6| -0.4| -0.4| -0.5| -0.5| -0.5
KR
(C) 10.4| 12.0] 12.9] 13.6| 13.8| 15.1| 13.6| 13.4| 11.0| 11.7| 10.6| 11.5
pH 7.0 6.9 70| 7.2 6.7/ 6.8 6.9/ 6.9 7.9 8.0 7.7 7.2
FFEM G | BRARE
16| 10 e m | (ns/m) 7.5 8.4| 7.6| 8.5/ 8.8/ 10.0 9.8 11.0/ 7.1| 7.6/ 9.2| 8.1
3 i3
éﬁf‘_ >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100
7&3 0.8/ 0.8 0.8 0.8/ 0.8 1.0/ 09 0.8 0.8 0.7 0.8 0.8

Wl HAERS 15 OKMIZOL (FEFoER) 2bOE S,
2 HEES 16 DKRMIZEKFFOEHmNS D& S,

o st o gy | A= PRITTEEEE
AL (m) 15 %HEFEE %7KJE7KIJ§J:J ﬂ#): _._{n_\*uzfﬁr_tx-—,_
0.0 —— T3 FE
-0.1 —— T4 FE
-0.2
-0.3 2 5
-0.4
-0.5
-0.6
-0.7
-0.8

48 58 6RA TR B8R 98 10R 1R 12R 1A 2R 3R

2-1(15) THREE,DRERR (MKES15)

AfE (m) 16 ZEEER 5 /KEKR —tr S HNTTEE
2.0 —.— & 2
e ——SH3EE
1.4 —.— 5 4 FEE
1.2
1.0
0.8
0.6
0.4
0.2
0.0

4 SR 6R 1R B8R 98 10A 1A 12 1A 2R 3AH
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# 2-109) PEHR
Hh S N
i 14 4
%ﬂ‘; B8 | AR | A A T
@ 48 |5A |68 |7HA |8A |9A |10A|11A|12A|1A |28 |34
Eké“? 9.5| 12.2] 15.2| 18.9| 19.6| 18.3| 14.3| 10.4| 6.1| 1.6| 2.4 7.0
; | = pljl 75 7.3 73| 7.6 76| 7.1 70| 7.1 7.3 7.7 7.0 7.7
Rl SRS b ool 5ol a7l as| 44| as| 47| a7 55| 53] 53
(mS/m)
fﬁ% 1.1 0.9 0.8 1.4 2.4 4.0 24| 1.3 1.1] 0.5 0.3 04
(m®/min)
7K
) 7.5 11.0| 12.5| 15.2] 16.2| 15.7] 13.7| 12.7] 9.8 4.3| 3.9 5.7
pH 7.0 72| 69| 7.2/ 71| 6.8 7.0 7.0/ 7.0/ 7.4 6.9 7.1
E3 17N pepym——
18 - | AKGE KR R 5.4 5.9 5.2 5.8 6.2] 8.0 7.5 5.4 5.2| 5.1 4.9 5.0
o (mS/m)
JE 38 K B
J‘(Cm;‘ >100[ >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100
RE 3.7 2.9 35| 5.8 58| 15.6] 11.4] 7.2| 6.6| 2.6| 2.6/ 4.0
(L/min)
14.0 —— S F1 2 FE
' ——F1 3 EE
12.0 —— 4 FE
10.0
8.0
6.0
4.0
2.0
0.0
4 5B 6B 1A 8H 9H 108 1A 12B 1A 2H 3AH
B2-1(17) $HMxTEEMILDRERR HRES17)

K& (L/min)

20.0
16.0
12.0
8.0
4.0
0.0

4R

5H

2-1(18)

18 ZEEHEMZKEKEREILEK —a=SHTEE
—— T2 FE
—— 5 F1 3 FE
—— 514 FE

6H

THTEENMOD

1R

8H

12

9A

10RH

11AH

12H

1A

2R

REER MRES18)

3H




& 2-1(10) REER

Hh S N
b5 . . 4 R
£E. BE |wEms | HEEA - -
7@ 48 |5A |68 |7H |8A |9A |10A|11A|12A|1A |28 |34
?%E)“ 6.2| 11.8| 13.8| 19.6| 19.1| 18.8| 13.8| 10.9| 6.5 1.7] 2.3| 6.6
H 7.4 7.1 75| 7.6 6.9 7.6/ 7.6/ 7.5 7.7 7.1 7.7 6.9
o | 5y | BRI P
s o = 5 2R
it %aslﬁ* 41| 44| 45| 49| 42| 40| 39| 41| 43| 45 47| 45
(m@fn) 11.0 9.8 11.2]| 12.6| 26.6| 33.1| 25.5| 10.0| 8.6| 6.3] 6.1| 6.7
7K
(C) 6.9| 11.1] 13.2| 17.6| 18.8| 18.0| 15.5| 10.9| 7.5 2.5| 2.5| 4.7
R pH 6.8 7.1| 7.3 7.1| 7.2| 6.7 69| 6.9 7.2 7.7 6.7 6.3
20 | 52 | (ER) =rrma
b ) ) 5] 5. 5. } ) . 7. . 5. )
3 %a{sﬁ/:;% 4.3 4.6| 4 3 0| 4.4 4.1 4.4 21 4.6 0 4.6
biioReES
(w/miny | 0:063]0.092(0.097)0.225/ 0.313] 0.476| 0.125| 0.017| 0.013| 0.005| 0.005| 0.006
. ;o —
& (m*min) 19 BiFE)diR -‘-E*HEETE
—— S 2 FE
100.0 ——SFISEE
+/—\ s
60.0
40.0
20.0
0.0

48 58 6H T7A 8RA 98 10RA 1A 12 1A 2B 3H

B2-1(19) fMRFEEI,roOHERRE HBRAES19)

W& (m¥min) 20 BIE) (EF) X = —a—aixEE
—— N2 FE

1.0 ——SFI3FE

0.8 -S4 EE

0.6

0.4

0.2

0.0

44 5A 68A TR 8A 9R 10R 11RA 128 1A 2R 3A

2-1(20) SHTEEHILDORERR (MWRES20)
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& 2-1(11) REER

Hh S N
Hh 5 . . N 4 4
£E. B |WEss | REEH =
BN 48 |5A |68 |7HA |8A |9A |10A|11A|12A|1A |28 |34
M=
Eké“; 14.0] 13.8] 17.9| 21.1| 23.7| 21.9| 19.2| 12.4] 9.3] 4.9 4.9| 6.3
pH 8.1 8.1| 80| 81| 7.9/ 82| 8.2 7.8 8.1 82 8.0/ 8.2
A [ IR
21 | 55 |@pHEF ?Ea{sz;j;* 42.2| 42.8| 41.6| 42.2| 42.9| 42.2| 42.4| 41.8] 42.6| 43.3] 43.8] 43.4
S
J‘(fi)g‘_ 63| »100| »100| >100| >100| 55| 85| 19| 38| Y100| 81| )100
KA
(m) 0.08| 0.44| 0.44] 0.33] 0.05| 0.20] 0.03|-0.15]|-0.16| -0.22] -0.29| —0.30
KR
C) 13.0] 13.9] 14.8| 14.3| 14.5| 15.0| 14.2| 12.7| 11.7] 9.7 11.9] 12.6
pll 6.8 6.8 6.9 7.2| 6.3 68 6.9 68 7.0/ 7.2 7.2/ 6.9
L [ 2R
22 B L EDE Bt 8.71 9.5 9.6 9.9 9.6 11.1] 9.4 89| 9.1| 9.6 9.4 9.3
(mS/m)
3 ite
ZHLEE 21 10| 31 71 18] 19| 19 6| 41| 28 4 19
(cm)
KA
() -21.5| -21.4| -22.0| -20.7| -21.2] -18.0| -20.2| -21.8| -21.5| -22.5| -22.7| -22.2

L MEES 21 OKMITHERE (G.L) 2H0omSarT,

(YEFAFEFAML CWVD DR, TEFELCEHBLTEY ., FFLDIEGL LY Ey)

W2 MRES 22 OKMITHFER (G.L.) "HOEmIERT,

IR (m) 21 ERAIHF
2.5
2.0
15
1.0
0.5
0.0
-0.5

4H 5B 6A 7B 8A 9H 10H 118

128 1

—tr— T EE
—— G HI2FE
—— THI3EE
—— G4 FEE
e

A 2R 3HA

B 2-1(21) fMREFEE,roOHRERR BRES21)

2K (m) 22 BAHF
0.0
-5.0
-10.0
-15.0
-20.0

-25.0
4 SR 6F 1R B8R 9A 1W0A N1

e FITTEE
—— L2 FE
—t— 1 3 EE
—— 14 FE

AR 128 1R 2B 3R

2-122) THMREE,oDNRERR HMRES22)
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& 2-1(12) HREHR
5 £ F 4 B i
;ﬁ‘f B |t | A A A
7@ 48 |5A |68 |7H |8A |9A |10A|11A|12A|1A |28 |34
?%E)L 8.3| 11.6| 14.7| 19.1| 19.1] 18.8] 14.2| 10.6] 6.5 2.1 2.2 5.5
=4R pli 75 7.4 7.6 76| 7.2 75 7.3 73] 71| 78] 7.1 7.6
23 | - | (BB e
v |EREEEL el 5ol 40| 44| 42| 42| a6l 47| 50| 52| 52
(mS/m)
‘fﬁﬁ.‘ 08| 08| 03] 08 22/ 35 25 14| o7 0.2 03] 0.3
(m®/min)
7K
C) 750 11.1] 13.9] 17.7| 20.4| 18.1] 15.6| 10.4| 7.0 1.7] 0.7 4.2
pll 75 72| 7.7 76| 7.8 72| 7.6 76| 7.7 7.7 7.4 7.6
24 | 11 | HEBLR oy
AIREES N 4l 47| 44| 48| 46| 43| 45| 46| 46| 46| 45| 46
(mS/m)
ﬁﬁ% 0.22| 0.19] 0.06| 0.44| 0.07| 2.69| 0.87| 0.15| 0.23| 0.08] 0.02| 0.14
(m®/min)
FeRt (m¥min) 23 =tRER XA —— ST
9.0 -G 2 EE
8:0 —t— 1 3 FE
70 —— G4 FE
6.0
5.0
4.0
3.0
2.0
1.0
0.0
48 b5AH 6AR 7H 88A 98B 10RA 118 12 1A 2R 3R
B2-1(23) SMTEEIOREHER (MEAFES23)
Filt (m¥min) 24 IR B
—t— SHITTEE
14.0 —— G2 FE
12.0 —t— i1 3 EE
10.0 -S4 FE
8.0
6.0
4.0
2.0
0.0
4 5B 6H T7H 8HA 98 10BR 1R 12B 1A 2B 3AH
B2-1124) SMTEEIOREHER (MRES24)
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& 2-1(13) PHEHR
Hh N
i 14 4
%ﬂ‘; BB (WA | WEEA A
@ 48 |5A |68 |7HA |8A |9A |10A|11A|12A|1A |28 |34
Ekfi“ 7.3 11.1] 14.2| 16.1| 17.5| 18.4] 16.1] 12.3] 7.9 - -l 6.7
pH 6.4 7.5 7.1 72| 6.9 7.3 6.3 6.9 7.2 - -l 15
B KER |EREER B B
25 sk | (as/m) 1.6|] 2.0 24| 28/ 23| 19/ 23| 1.8 15 2.0
%fi)g y100[ »100| 43| »100| »100| »100| )100| )100| ) 100 - -l 13
K B
(L/min) 1.8 0.9 0.4 32| 30| 7.8 26| 05 04 - -l 05
Ekc{"? 8.5| 11.6| 13.8| 18.9| 19.2| 18.7| 13.9 10.6| 6.4 1.5 2.1 5.5
o pH 7.3 7.3 75| 7.6 7.3 7.6 75| 7.1 7.2| 7.6 7.5 7.1
26 | 58 *;if Py
n @Z“msﬁ/j;* 4.4 4.3 45| 44| 42| 39| 40| 43| 4.3 45 45 4.4
(m‘@fn) 0.9/ 1.0 1.0 1.9/ 25 42/ 29 1.1 1.0l 09/ 05 03
K& (L/min) 25 RERFEEK B
—te S HITTEE
o ——SH2EE
0.0 —— G HIBEE
60.0 - T4 FEE
50.0
400
30.0
20.0
10.0
0.0
48 5H 6A 7B 8H 98 10HA 118 12B 1A 2H 3AH
B 2-1(25) SHITEEMIDHAERR (HRES25)
FE (m3/mi 26 =+iREHR
,;.,g(m/mln) '%%UJ_EEE
12.0 —— THI2EE
10.0 —— T HIBEE
.o —— S
6.0
40
20
0.0
4 5H 6H 7H 8H 9RA 10R 1R 12R 1A 2R 3A
B 2-1(26) *MTEEIDORERER (MEAES26)
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=& 2-1(14) BREER
Hh S N
= . . 4 R
;ﬁ; B8 | | A A - =
7@ 48 |5A |68 |7H |8A |9A |10A|11A|12A|1A |28 |34
?%E)L 10.0] 11.0] 13.9] 18.6| 18.2| 16.2| 14.3| 11.4] 6.8 5.5 53] 7.8
pll 72| 73| 6.9 7.3 7.2 75| 7.1 71| 6.6 7.4 7.1 7.1
i A KR | R AR =R
18| 5.0 5.6 56 5.0 4.9 5.0 50 4.7 65 52 55
A0 Gmk) | (ns/m)
Eziﬁm)g >100] 10| 22| >100| 70| 43| >100| >100| >100| 26| 18 19
7&3 -0.4| -0.4] -0.4| -0.4] -0.4| -0.4| -0.5| -0.4| -0.5| -0.5| -0.5| -0.4
KR
C) 11.2] 12.6| 12.9] 14.1| 14.7| 13.4] 13.1] 12.2| 9.4 9.4| 89| 10.7
0 HE)I pH 7.4 7.3 7.2 7.4 7.4 7.0 7.0 7.2 7.4 7.1 7.1 7.3
28 | 54 | (ER) =rrms
i |BAEBREL ol ool 56l 53] 50| 49| 50 50| 50/ 55 52 55
(mS/m)
‘{ﬁgf 0.03| 0.02] 0.02| 0.01] 0.04| 0.13] 0.08] 0.03] 0.02| 0.02| 0.01] 0.01
(m®/min)
ES M E S 27T OKAIL GL (FrFoMiER) 226 0E &,
KEZ (m) E (s
27 EAKIE (GEK) —— ST
0.0 —— G2 FE
0.1 —— 5T 3 EE
' -4 EE
-0.2
-0.3
-0.5
-0.6

48 5A 68 1A 8A 98 10A 11A 12A 1A 28 38
®2-127) SMTEEI,LORERER ChRES27)

8 (m3/min) 28 BiE)(EF) iR —ﬁ—%iﬂijf
—— THI2EE

1o —— ST

0.8 —— GH4FEE

0.6

04

0.2

0.0

48 58 68 7R 8A 9A 108 1A 12A 1A 28 3R
2-1(28) THIREEILOREER (MRES28)
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=& 2-1(15) MMEHER
ﬂjﬂ,‘f—i AN 4 i
%ﬁ‘f &5 | @ | WEE e AR
@ 48 |5A |68 |7HA |8A |9A |10A|11A|12A|1A |28 |34
?:éﬂ? 9.2 12.1| 14.2| 16.4| 16.6| 15.7| 15.2| 12.6 7.9 - - 7.9
pH 7.0 7.1 7.1 7.2 6.9 7.1 6.8 7.0 6.6 - - 7.2
| KER [EREEE 1
29 W 5k 8 A (mS/m) 5.0 5.1 5.3 5.0 5.1 5.4 5.8 5.7 5.0 5.9
Jﬁzi’i)&? >100| >100 42 55 >100| >100| >100( >100 75 - - 13
K B
(L/min) 1.6 2.1 1.3 1.3 2.6/ 10.2 6.6 1.6 0.8 - - 0.6
H1 o KMIZGL O DOE S,
W2 HEFES 30 1XBIHH T ORI E VTR T,
7ki (L/Il’lln) 29 ﬁ}%;ﬁ;ﬁﬁiﬁ7}< %*Diﬁig
30.0 —— SF 2 FE
25.0 —— 53 EE
—— 4 FE
200 SH4EE
15.0
10.0
5.0
0.0
48 58 6A 1A 8A 9B 108 118 12 1A 28 3H
E2-1(29) $SHTEEHISORERKR (MBS 29)

18




& 2-1(16) HAEHR
Hh A A
i N4 4
;ﬁ‘; FE (s | HEEA A
7@ 48 |5A |68 |7H |8A |9A |10A|11A|12A|1A |28 |34
?:éﬁ; 6.7 12.1] 13.2| 16.8| 18.9| 18.8| 14.6| 11.3 7.3 3.2 2.8 6.2
pH 7.2 7.2 7.3 7.6 6.6 6.9 6.8 7.1 7.2 7.2 7.4 7.4
HHR |EREEE
31 W d5k 998 K (mS/m) 9.2 9.41 10.5 9.7 9.1 7.6 8.6] 10.4 9.3 9.8 9.2 10.0
ézfi)g >100| >100| >100{ >100 80| >100| >100 60 >100 40 401 >100
7k% 1.2 0.6 0.8 1.9 2.4 8.7 2.4 0.3 0.5 0.2 0.4 0.2
(L/min)
?EC{F; 6.3 11.2| 12.2( 16.7| 17.7| 17.0| 13.2| 10.3 6.4 2.2 1.4 5.0
H 7.5 7.7 7.5 7.7 6.8 7.0 7.2 7.7 7.6 7.0 7.7 7.4
32 61 LSS ’
ik |EaEER
3.4 4.2 4.6 4.3 4.2 4.0 4.1 4.2 4.1 4.1 4.2 4.1
(mS/m)
fﬁ% 0.7 0.3 0.8 0.9 1.8 2.3 1.1 0.6 0.5 0.4 0.5 0.5
(m®/min)
& (Lmi 31 MEHRRREEK _
f min) ’ —— S
140'0 —— G2 EE
’ —— G 3 EE
120.0 —.— 14
100.0
80.0
60.0
40.0
20.0
0.0 e el
48 58 68 7B 8B 98 108 118 128 1A 28 38
2-131) SHITEEILDRAERE (MAEFS31)
o (8 32 HEHRER
e (m?min) —— S

10.0
8.0
6.0
4.0
2.0
0.0

4R

2-1(32) SHMITEEN DD

oA

6R

1R

8H

9R
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10AH

1A

12H

—— G2 FE
——F1 3 EE
—_— 54 FEE

1R

2R

3H

RERR (MRESS3 2)




= 2-1(17) REER

b 5 . . S04 R
£E. BE (s | WEEA - -
@ 48 |5A |68 |7HA |8A |9A |10A|11A|12A|1A |28 |34
M=
Eké“; 6.2| 11.0] 12.0| 16.4| 17.4| 16.7| 13.1| 10.3| 6.4] 2.2| 1.3] 4.9
. pH 75 7.5 75| 7.8 69| 7.6/ 72| 7.5 7.6 7.7 7.8 7.8
2 I Y
33| 62 ﬁ%ﬁﬂ BRI
& ?mS/m) 3.71 3.8/ 4.0 4.1] 3.9/ 3.8/ 3.8/ 3.9/ 3.9 3.8/ 39| 3.9
(m‘@ﬁn) 0.4 0.2] 04| 05| 1.5 1.7] 0.3 04| 0.6 0.3 03] 0.3
7K
) 12.0] 12.2] 12.8| 14.4| 14.1| 14.5| 14.8] 11.5| 9.7 7.8 7.6/ 9.8
pH 79| 6.8 76| 7.4| 76| 7.6/ 76| 7.9/ 7.5 79| 7.5 7.9
| ER [mRmEE
34 etk | (nS/m 10.2] 9.7 9.9 10.3| 10.2] 9.9 9.6 10.4| 10.5] 10.7| 11.0] 10.9
3 F
Jz?fi)f; >100[ >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100
K &
(L/mim) 2.0l 1.6] 2.2 29| 35| 35/ 7.8 1.7 1.9/ 2.3 14| 2.0
e 33 R LR
i E (m3/min) AT
10.0 ——THI2FE
20 —— SIS EE
‘ -S4 FEE
6.0
4.0
2.0
0.0
4 sH 6B 7B 8H 9H 10RA 11H 12B 1H 2B 38
B 2-133) SHTEEILDRERKR (MWEES33)
j— N :tigz:§7k
AKE (Umin) 34 =R B
= —— SR
9.0 == GHI2FE

8.0
7.0
6.0
5.0
4.0
3.0
2.0
1.0
0.0

—— GHI3EE
—— G4 EE

48 sS5A e6A 7A 8HA 9A 10A 11A 12A 1A 2B 3R

2-1(34) SMITFEEI,CDHERRE (MRES3 4)
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& 2-1(18) REER

Hh S N
b5 . . 4 R
£E. B |t | A A - =
7@ 48 |5A |68 |7H |8A |9A |10A|11A|12A|1A |28 |34
?%E)L 9.2 9.9 11.5| 15.5| 17.2| 15.9| 14.3| 11.7| 8.5| 4.3 3.7 5.3
. pH 7.4 7.4 74| 75| 73| 770 76| 76| 7.8 7.9 7.6 7.4
3] 63 #L}:‘("ﬁﬂ YRS
’ (nS/m) 3.4 3.5 3.7 3.9 3.9 3.7 3.7 3.8 3.6/ 3.5 3.5 3.5
(mﬁﬁ;ﬂfn) 0.2 0.3 o2 o.1] 0.3 o7 0.6 02| 0.2 o1 o.1] o.1
7K
) 10.1] 10.1] 10.5| 11.3| 10.5| 10.9| 10.6| 10.4] 9.0 9.9 9.2| 9.8
pH 6.6| 7.2/ 6.6 6.8 6.8 6.8 6.6/ 68 6.9/ 7.3 7.5 6.9
| HEERR B E
36 sk | (nS/m) 3.7 3.6] 3.7 3.6 3.4 3.7 3.8 3.5/ 4.0 3.9 4.2/ 3.8
3 E
szi)g‘_ >100[ >100| >100| >100| >100| >100| >100| >100| >100| >100| >100| >100
K &
(L/mim) 94.2| 89.4| 66.0] 73.2]150.0|175.2|136.2|100.8| 54.6| 96.6| 68.4| 67.2
e g 35 HFRIRLHR
i E (m3/min) AFTTERE
5.0 ——THI2FE
"0 —— SIS EE
: -S4 EE
3.0
2.0
1.0
0.0
4 5B 6A 7B 8A 9HA 10RA 11B 12A 1R 2R 3R
B 2-1(35) SHTEELILDORERKR (MWEES35)
N e 3
JK=Z (L/min) 36 *EIE/RUIL ] /EJK o
= —— ST
700.0 == THI2FE
600.0 —— S TI3EE
2000 —— LA
400.0
300.0
200.0
100.0
0.0

4 5B 6HA 7B 8HA 9A 10R 11A 12A 1A 2R 3H

2-1(36) SHTEELILORERE (MFRES36)

21




=& 2-1(19) MRMEER
Hh S N
= . . 4 HEE
ﬁg‘; B || HamEe -
BN 48 |5A |68 |7HA |8A |9A |10A|11A|12A|1A |28 |34
?:éﬂa[; 14.2| 14.0| 14.5| 14.5| 14.2| 15.0| 14.9| 11.9| 10.4 8.9 9.8 13.9
pH 9.1 9.1] 9.2 9.2| 9.5/ 9.4 9.0 9.0/ 9.5/ 10.0] 10.8] 10.6
37 B ¥ Eia %asfi 31.8| 24.4| 29.6| 37.8| 40.9| 20.4| 20.6| 38.9| 34.7| 47.3| 52.9| 48.7
EZ%)E% 63| 54| 60| 94| >100| 86| 74| 82| >100| 43| 45 66
7}:3 ~16.1] ~16.0| ~16.6| -15.4| ~15.8| -13.3| ~15.1| -16.3| -16.0| ~16.8| -16.9| ~16.6
E1  HEERS 37T OKMIZGL (FrFoHER) 60 S,
kAL (m) 37 BBAIHF
==L H2FE
o ——SHBEE
_4:0 - G4 FEE
-6.0
-8.0
-10.0
-12.0
-14.0
-16.0
-18.0
-20.0
4A 5HA 6A 7HA 8HA 9A 10A 11A 12A 1A 2R 3R
B2-137) SH2EEHISOREHKR (MWAEES37)
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